dN/dp [GeV ]

Ratio to SLD

=
o
N

=
o

0.5

.91.6?\/ ee

Yz (H

Momentum Fraction(charged)

adronic)
[T T

- n -
_ . ]
]
_ by —
= ‘ —
= oy =
— & -
&
_ ~ ]
= - e
- m §
| = SLD .
= ¢+ Sherpa 1.2.3 default , =
E, I R R | P I I R | P I IR R | P I E R | oy ;
: T T T T | T T T T | T T T T | T T T T | T T :
B TS S S § N
— A"’_‘_’.’--Q" +-¢ L S ‘ _____________ Y —
"‘v |
......... T T S T (O T ST TR T N T S TR TR I T T
0 10 20 30 40

Rivet 3.1.10, 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


